
1

1

2

2

3

3

4

4

A A

B B

C C

D D

E E

F F

AUDIPACK
DDDDOOOO    NNNNOOOOTTTT    SSSSCCCCAAAALLLLEEEE    PPPPRRRRIIIINNNNTTTT

of:

C      COPYRIGHT AUDIPACK
This print and the information shown thereon, is the

property of AUDIPACK.
It may not be delivered to others nor reproduced for

general circulation without the written consent of
the AUDIPACK engineering department.

AUDIPACK
Industriestraat 2
2751 GT Moerkapelle
the Netherlands
 

tel.  +31(0)795931671
fax. +31(0)795933115
 

www.Audipack.com

Drawn by:

American Projection

Checked by:

Appr. by:

Material:

Date:
Format:

R

Sheet:

Scale:

ISO 2768-m
Name:

Stock number:

TOLERANCES, UNLESS NOTED OTHERWISE:

Mounting plate  (90x90 mm) * B J - P R O -I N T 1 *

Edwin
Mario

  

13-1-2020

1 2 10-8-2020 1 : 4 A4

C:\Vault WorkSpace\Audipack\Produktgroepen\BJ\BJ-PRO-INT1\BJ-PRO-INT1.iam

Thickness:

BJ-PRO-INT1

35

3
5

1
6

0

198

1
0

233

Ingangscontrole
Afmonteren
Eindafname
Inpakken
Transport
Aftersales
Support
 
 
 
 
 

BEWERKINGEN

AUDIPACK

9
0

90



1

1

2

2

3

3

4

4

A A

B B

C C

D D

E E

F F

AUDIPACK
DDDDOOOO    NNNNOOOOTTTT    SSSSCCCCAAAALLLLEEEE    PPPPRRRRIIIINNNNTTTT

of:

C      COPYRIGHT AUDIPACK
This print and the information shown thereon, is the

property of AUDIPACK.
It may not be delivered to others nor reproduced for

general circulation without the written consent of
the AUDIPACK engineering department.

AUDIPACK
Industriestraat 2
2751 GT Moerkapelle
the Netherlands
 

tel.  +31(0)795931671
fax. +31(0)795933115
 

www.Audipack.com

Drawn by:

American Projection

Checked by:

Appr. by:

Material:

Date:
Format:

R

Sheet:

Scale:

ISO 2768-m
Name:

Stock number:

TOLERANCES, UNLESS NOTED OTHERWISE:

Mounting plate  (90x90 mm) * B J - P R O -I N T 1 *

Edwin
Mario

  

13-1-2020

2 2 10-8-2020 1 : 2.5 A4

C:\Vault WorkSpace\Audipack\Produktgroepen\BJ\BJ-PRO-INT1\BJ-PRO-INT1.iam

Thickness:

BJ-PRO-INT1

DIN 7991VERZONKEN SCHROEF MET BZKDIN 7991 - M6x35 - ST 10.9413

DIN 125VLAKKE SLUITRING VOOR ZESKANTDIN 125-1 - A 6,4 - ST 8.8412

DIN 934ZESKANTMOERDIN 934 - M6 - ST 8411

DIN 7991VERZONKEN SCHROEF MET BZKDIN 7991 - M8x35 - ST 10.9410

DIN 7991VERZONKEN SCHROEF MET BZKDIN 7991 - M6x20 - ST 10.949

DIN 934ZESKANTMOERDIN 934 - M8 - ST 848

DIN 125VLAKKE SLUITRING VOOR ZESKANTDIN 125-1 - A 8,4 - ST 8.847

 MOUNTING CAM FIT80109346

 DUBBELE MANCHETRING71142445

 BJ-PRO-INT PLATE64557514

 MONTAGE NOK39262043

 MONTAGE NOK39261942

 Indexbout GN 617-8-AK27007911

STANDARDDESCRIPTIONPART NUMBERQTYITEM

IN ZAKJE MEELEVEREN
392619

392620

711424

801093

4

1

DIN 125-1 - A 8,4 - ST 8.8

DIN 125-1 - A 6,4 - ST 8.8

DIN 934 - M6 - ST 8

DIN 934 - M8 - ST 8

DIN 7991 - M6x20 - ST 10.9

DIN 7991 - M6x35 - ST 10.9

DIN 7991 - M8x35 - ST 10.9


